Questions

Q1: Shillong Civil Hospital receives funding based only on its performance. For example, if INR 1 crore is the
maximum annual budget allocated, the hospital will received INR 80 Lakhs if the hospital scores 80%. For the
FY 2023, the hospital scored 66% in its assessment. The hospital received INR 33 Lakhs on 15th April 2023 .
What was the maximum annual budget allocated for the hospital in the FY 2023? (4 / -2 marks)

CORRECT ANSWER

INR 50.00 lakhs

Q2: In South Garo Hills District, the ratio of hospitals to ambulances is 4:13 while the ratio of pharmacies to

3.7
hospitals is 91:12. What is the ratio of ambulances to pharmacies in the District? (4 /-2 marks)
Q3: A man bought 100 mangoes at a certain price, with the intention of selling each at a profit of 25%. 20
mangoes got spoilt. If he sold the rest at the intended price, what was his profit or loss percentage? (4 / -2 0%
marks)
Q4: There are five members in a family. Their present average age is 25 years. Find the average age after 5 30
years? (4 / -2 marks)
Q5: In 2004, the institutional delivery increased by 10% with respect to that in 2003. By what percentage is 9(1/11)%

6

the institutional delivery in 2003 less than that in 2004? (4 / -2 marks)
Q6: Who sits to the immediate right of Q? (2/ -1 marks) [o]
Q7: If Q wants to sit to the immediate left of N, then with whom should he exchange his seat? (2/ -1 marks) M
Q8: How many persons are there between R and Q? (2/ -1 marks) 2

Q9: If P and Q exchange their places in a row, which of the following must be false? (2/ -1 marks)

P and R sit together

Q10: If S sits in between Q and R, who sits to the immediate right of P? (2/ -1 marks) T
Q11: Which of the following cannot be the correct seating arrangement for the five people in either a

. . R P,Q,R,S,T
clockwise or anti-clockwise direction? (2/ -1 marks)
Q12: If S is not sitting next to Q, who is sitting between Q and S? (2/ -1 marks) P
Q13: Jane walks 2 km from A to B. She turns right and goes 3 km up to C. She then again turns right and goes
upto 8 km upto D. Again she take a right and 3 km upto K. From K she takes a right and reaches F after 2Km
covering 4 km. Find the distance between A and F (2/ -1 marks)
Q14: John ranked 9th from the top and 38th from the bottom in a class. How many students are there in the 46
class (2/ -1 marks)
Q15: What comes in place of "?" in the following series (2/ -1 marks)

MQNRO

AYBZC, DWEXF, GUHVI, JSKTL, ?

Q16
Statement: Should there be a uniform rate of income tax irrespective of the level of income

Argument I: Yes, this will substantially reduce the work of the officials at the income tax department

Argument II: No, this will reduce government tax collection to a large extend.

ONLY Argument | is valid

Q17
Statement: Should small states be formed out of bigger states in India

Argument I: Yes, there will be greater administrative convenience

Argument II: No, it will jeopardise the national integration

Both Argument | and Il are valid

Q18
Statement: Should the sale of all toys made in China be banned in India

Argument I: Yes, these are very cheap and hence, will put the local toy manufacturers out of business.

Argument II: No. Indian toys are of much better quality and their sale will not be affected.

Either Argument | or Il is valid

Q19
Statement: Should we impart sex education in schools?

Argument I: Yes, all progressive nations do so

Argument Il: No, we cannot impart it in a coeducational school

Neither Argument | nor Il is valid




Q20
Statement: Should the sale of tobacco products be restricted to only a few outlets in each city/town?

Argument I: Yes, this will substantially reduce consumption of tobacco products

Argument II: No, those who want to purchase tobacco products should get them at convenient locations

ONLY Argument | is valid

Q21

Statement: Reports of steep and continued decline in the inflows into the Gobindsagar reservoir of the
Bhakra Dam, coupled with a depleted stock of coal with the thermal power plants in the North, may lead to
a serious power crisis in the region.

Action I: The supply of coal to the thermal power plant should be immediately stepped up by the
Government

Action IlI: The Government should set up hydraulic power plants on other rivers in the region.

ONLY Action | follows

Q22
Statement: An increasing number of graduates produced by Indian universities are unemployable

Action I: Colleges and Institutes of higher learning should be given greater autonomy to decide the course
content

Action Il: World class foreign universities should set up campuses in India

Neither Action I nor Il follows

Q23
Statement: Despite good economic progress of the country, significant number of under-nourished children
has been observed in the rural parts of the country

Action I: Government should increase wealth tax/ Income tax and use that money for upliftment of the
deprived population

Action Il: Government should introduce schemes like free meals in schools and make primary education
compulsory

Both Action I and Il follows

Q24
Statement: The rate of inflation has reached its highest in last 20 years and there is no sign of it softening in
the coming months

Action I: The Government should initiate steps like reducing Government taxes on essential commodities
with immediate effect

Action II: Farmers should be asked by the government to sell their products at lower prices.

Neither Action I nor Il follows

Q25
Statement: Every year at the beginning or at the end of the monsoon, we have some cases of flu, but this
year, it seems to be a major epidemic, witnessed after nearly four years

Action I: Precautionary measures should be taken after every four years to check the epidemic

Action II: People should be advised to consume nutritious food to strengthen their immune system

ONLY Action Il follows

Q26
Sentence 1: "The Pre-Raphaelite movement formed in 1848 broke up within 10 years due to European
influences on the brotherhood".

Idea not found in the passage 1

Q27

2: "The Pr phaelites brought their ideals of a true portrayal of nature to their painting."

Expresses Detail of the Passage 2

Q28
Sentence 1: "Skiers are always searching for ways to change their appearance for an important race”

Idea not found in the passage 3

Q29
Sentence 2: "Clothes that cling to a skier's body cause less wind resistance."

Summary of the Passage 3

Q30
Sentence 3: "Skiing equipment and clothing have been developed specifically to increase racing speeds"

Expresses Detail of the Passage 3

Q31: Use the word "debilitated" in a sentence to bring out its meaning clearly as an adjective

Q32: Choose the correct word from the following options to fill in the blank

apprised

The Manager was of the issues faced by the field staff.
Q33: Choose the correct word from the following options to fill in the blank

effect
The community interventions showed positive on the health outcomes.
Q34: Choose the correct word

with
The Associate cannot cope the work pressure.
Q35: Choose the correct word

Loose

You should wear garments in the summer




